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1. (i) What is Debit note ?
I e o ¥ ?

(ii)) Ram purchased goods of ¥ 8,000 at 10% trade
discount from Shyam. Goods at ¥ 1,700
Time : 3 Hours | [ Maximum Marks : 70 returned to Shyam at it was defective. At

B.Com. (Part I) Examination
Financial Accounting
(foxia @)

Paper : BC-01

. C . . which figure Ram will record the transaction
Note .— The question paper is divided into three Sections )
in purchase book ?

M A T 8,000 1 T 10% SAMIRE dg T T4H
¥ TS| AT O B % SR 3EH 9 T 1,700
T 1 A T 1 a9 @R G ™ fem
Y W HI TAF H @ HEM 2

A, B and C. Write answers as per the given
instructions.

fEor - =@ yvA-uw ‘e, ‘e SR ‘) 9 wvel | fawifsa ®)
TIF WUE PR T # S AR

Section-A 7x2=14 (iii) Discount to customer ¥ 300 but credited in
(Very Short Answer Type Questions) his account ¥ 150. What will be the
Note .— Answer all questions. As per the nature of the rectification entry ?
question delimit your answer in one word, one TH UES 1 T 300 ® 91 fe= T A SHe
sentence or maximum up to 30 words. Each T # T 150 & wfee Ay U1 sEET 1 gER
question carries 2 marks. gfafte arft ?
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(iv)

v)

(vi)

Rate of depreciation WDV @ 20%, cost
T 1,00,000, Residual value at end of useful life
is ¥ 40,960. Find out useful life of asset in
years.

Heug™ < wara fafy | 20%, @rd qea
% 1,00,000 TN SHahal & o< H STERTe Hod
T 40,960 T Fwufd @1 Sfodswa asi # AW
I |

Explain error of omission.

g1 el oTYfs THemsT

Narrate the accounts to be opened under stock
and debtors method in branch accounting.
= AEHd H SR U9 e gty § @ S
A WA SET |

(vii) Write the names of methods of preparation

of trial balance.

qoIe s w1 faftEt & AW fafew
Section-B 4x7=28
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 7 marks.
gus—d
(g T q99)

fr<l a® 9ee & IR NWI Y T I H
sfasram 200 g H UfEifga wifST gdw 99H
7 % & ¥
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. Write short note on Conventions of Accounting.

@R T e W gy feooht fafem)

. Mention names of different methods of charging

depreciation on fixed assets.
TRt wEfadl R Aedsd wed &t fafv= ugfedt &
M fafew |

. Explain the difference between Trading and Profit

& Loss Account.

ARG @A TS -7 ©d & T<R H THARY |

. Rectify the following :

fr=fafea @1 gur sy .

(i) An entry for the goods sold to Madhav for
% 204 was posted to his account as T 240.

Hiee ! o T T 204 &1 gfafte &) @dr 396
i H T 240 ¥ w1 WA

(i1)) ¥ 550 received from Sohan credit to Mohan
as I 750.

e 9 9 T 550 i AT AT & @ 7 T 750
q Bfee =t & T

(ii1) Sales of old furniture for ¥ 350 to Old Wares
Stores was recorded in sales book. Book value
of the furniture was ¥ 500.
3T IR VE H 99 T T 350 F TWH FAR
F fowa qww § faen T AR w1 g
g % 500 @i
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(iv) The total of purchases book was ¥ 2,000
short.

%A T&E K1 AR T 2,000 F FH A T

. A machine was purchased on 1.4.2010 amounting
to ¥ 1,92,000. The depreciation was charged @ 15%
p.a. by WDV method. On 1.4.2013 it was decided
to change by the method and rate of depreciation
to 10% p.a. on the straight line method with
respective effect from 1.4.2010. The difference in
depreciation to be adjusted in Machinery A/c on
1.4.2010. Prepare Machinery A/c for the year
2013-14. Working should from the part of your
answer.

T FH 4 UE WEIA 1.4.2010 1 T 1,92,000 § A
HI | T8 15% 9faas &t X & FHAFD o9 ISd 9 B9
S 1 1.4.2010 9 Gatud g9E % 9o Gl e
gfd W 10% i = 1.4.2013 1 @ 7 T T
o 79 =1 fafy o ¢ 9 gfeadq o2 fgon sw 1.4.2013
) T ©a # GHEIfSa ® ST Sl g uit &
AR hH GHEIST hifed qem 99 2013-14 1 704
@l 98T | HE feoul e ST w9 B

. Distinguish between Normal and Abnormal Loss.
Also explain their accounting treatment to be made
in the books of consignor.

T T STEME B SR S| T i T
4 ffq I 91 39 O SAEER H O gHEE |

. What do you mean by Joint Venture ? How joint
venture differs from consignment and partnership ?
Explain.

TR GEE W SR N AME 7 WY W,
90 T WER 9 fFE yeR = ¥ 2 aHeme
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9. Write short note on Stock and Debtors method of
Branch accounting.

I AT Fi @ik Td R fafy w gfera fewon
fefem)

Section—C 2x14=28
(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

FeT o

your each answer maximum up to 500 words.
Each question carries 14 marks.
Tus—H
(& s ue)
=t &Y Tl & S A1 S ST TR T AferwRan
500 v H uREfaa #INT) Yo@® T 14 37 A
Tl

10. Write notes on the following :

frafafes w fewfoat fafen .

(@) Concepts of Accounting
TGRS STAIROME
(b) Trial Balance Agreement is proof of accuracy
of books, if not, explain.
qor9e o1 oI o &kt 1 YSal 1 T E,
Ifs &, @ Ty
BCO-01/8 (6) TR-395



11. Prepare Profit and Loss Account from the 12. The following information is supplied to you :

following : ? AT e e A
() Gross Profit 1,00,000 Name of| Balance on | Sales during| Cashreceived [Discount allowed
(i) Rent paid 18,000 Debtor |15t April, 2005 | April, 2005 | during April, 200§  during April
(i1i) Discount allowed 7,000 N N N N
(1v) Commission received 6,000 A 680 800 750 10
(v) Carriage inward 9,000 B 920 600 300 _
(vi) Package Expenses 11,000 c 730 900 790 0
(vii) Bank charges 2,000 b 4o 200 200 B
(viii) Bad debts 13,000
ffRa & @T9-31 @l ARy, Total 27 2,600 L 20

7 Give the accounts of individual customers and the
() TFa oY 1,00,000 total Debtors Account and prove that the posting
(i) forrn <rn 18,000 is correct.
(iii) =g fam 7,000 el & AT O T HA SRR WAl I8y, qo
(iv) wHIIE g fomam 6,000 Tt w g A g wif
(v) oTa® e Wrel 9,000 13. How many types of errors are there in accounts ?
(vi) T == 11,000 Explain with examples.
(vii) S =it 2,000 T # oeNfed Rt WeR # e € 7 Samwm
(viii) gaa o 13,000 Hgd <R
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